
Appendix
Adjustments for Capitalisation or Bonus issue, Rights issue or Open offer, and Sub-Division or Consolidation of shares:
A
Capitalisation or Bonus Issue and Rights Issue or Open Offer of Shares
Adjustments follow the formula : 

New number of Options = Existing Options x F

	New Exercise Price
	=
	Existing Exercise Price
	x
	1

	
	
	
	
	F


Where 
	F
	=
	CUM

	
	
	TEEP


CUM = Closing price as shown in the Daily Quotation Sheet of the Exchange on the last day of trading before going Ex-Entitlement

	TEEP (Theoretical Ex Entitlement Price)
	=
	CUM + [M x R]

	
	
	1 + M


M = Entitlement per existing Share 

R = Subscription Price

(a)
Capitalisation or Bonus Issues
Example:

Existing shares in issue : 100m

Shares under Option : 10m (10% of the existing share capital)

Existing market price of the Shares : $1.00

Existing Exercise Price of the Option : $1.00 per Share

Bonus issue ratio: 1 new Share for every ten Shares held

ie.  CUM = $1.00, R =$0  and   M = 0.1

Therefore, 
	TEEP (Theoretical Ex Entitlement Price)
	=
	CUM + [M x R]

	
	
	1 + M


	
	=
	1 + [0.1 x 0]
	=
	1

	
	
	1 + 0.1
	
	1.1


	F
	=
	CUM
	=
	1
	=
	1.1

	
	
	TERP
	
	1/1.1
	
	


Adjusted number of Options = Existing number of Options x F = 10m x 1.1 = 11m 

(Additional 1m Options will be allocated to the existing holder of Options in the proportion of 1 new Option for every 10 Options held by an Optionholder.)
	New Exercise Price
	=
	Existing Exercise Price
	x
	1

	
	
	
	
	F


	
	=
	$1.00
	x
	1

	
	
	
	
	1/1.1


                                                         = $0.909

Intrinsic Value of Options immediately before the Bonus Issue = 10m x ($1.00 - $1.00) =  Zero
Intrinsic Value of Options immediately after the Bonus Issue = 11m x ($0.909 - $0.909) = Zero
The purpose of these adjustments is to ensure that, as far as possible, the intrinsic value of the Options remains unchanged before and after the corporate action.

(b)
Rights Issue or Open Offer
Example:

Existing shares in issue : 100m

Shares under Option : 10m (10% of the existing share capital)

Existing market price of the Shares : $1.00

Existing Exercise Price of the Option : $1.00 per Share

Rights issue (or open offer) price : $0.50

Rights issue (or open offer)  ratio : 4 new Shares for each Share held

ie.  CUM = $1.00, R =$0.50  and   M = 4

Therefore, 

	TEEP (Theoretical Ex Entitlement Price)
	=
	CUM + [M x R]

	
	
	1 + M


	
	=
	1 + [4 x 0.5]
	=
	3

	
	
	1 + 4
	
	5


	F
	=
	CUM
	=
	1
	=
	5
	

	
	
	TEEP
	
	3/5
	
	3
	


Adjusted number of Options = Existing number of Options x F = 10m x 5/3 = 16.67m 

(Additional 6.67m Options will be allocated to the existing holders of Options in the proportion of 2 new Options for every 3 Options held by an Optionholder.)
	New Exercise Price
	=
	Existing Exercise Price
	x
	1

	
	
	
	
	F


	
	=
	$1.00
	x
	1

	
	
	
	
	5/3


                                                         = $0.60

Intrinsic Value of Options immediately before the Rights Issue (or open offer) = 10m x ($1.00 - $1.00)= Zero
Intrinsic Value of Options immediately after the Rights Issue (or open offer) = 16.67m x ($0.60 - $0.60)= Zero
B
Subdivision or Consolidation of Shares
Adjustments follow the formula: 

New number of Options = Existing Options x F

	New Exercise Price
	=
	Existing Exercise Price
	x
	1

	
	
	
	
	F


Where  F = Subdivision or Consolidation Factor
(a)
Share Sub-division
Example:

Existing shares in issue : 100m

Shares under Option : 10m (10% of the existing share capital)

Existing market price of the Shares : $1.00

Existing Exercise Price of the Option : $1.00 per Share

Share Subdivision:  subdivide 1 old Share into 5 new Shares

ie.  SF = 5

Therefore, 
Adjusted number of Options = Existing number of Options x F = 10m x 5 = 50m 

(Additional 40m Options will be allocated to the existing holder of Options in the proportion of 4 new Options for each Option held by an Optionholder.)
	New Exercise Price
	=
	Existing Exercise Price
	x
	1

	
	
	
	
	5


	
	=
	$1.00
	x
	1

	
	
	
	
	5


                                                         = $0.20
Intrinsic Value of the Option immediately before the Share Subdivision = 10m x ($1.00-$1.00) = Zero
Intrinsic Value of the Option immediately after the Share Subdivision = 50m x($0.20-$0.20) = Zero
(b)
Share Consolidation
Example:

Existing shares in issue : 100m

Shares under Option : 10m (10% of the existing share capital)

Existing market price of the Shares : $1.00

Existing Exercise Price of the Option : $1.00 per Share

Share Consolidation:  consolidate 5 old Shares into 1 new Share

ie.  SF = 1/5
Therefore, 

Adjusted number of Options = Existing number of Options x F = 10m x 1/5 = 2m 

(The new 2m Options will be allocated to the existing holder of Options in the proportion of 1 new Option for every 5 old Options held by an Optionholder.)
	New Exercise Price
	=
	Existing Exercise Price
	x
	1

	
	
	
	
	1/5


	
	=
	$1.00
	x
	5


                                                         = $5
Intrinsic Value of the Option immediately before the Share Consolidation = 10m x ($1.00 - $1.00) = Zero
Intrinsic Value of the Option immediately after the Share Consolidation = 2m x ($5 - $5) = Zero
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